KOMITbIOTEPHOE
MOAEANMPOBAHUE

CBOBOAHOIO NAAEHUSA




O3HakombTecb ¢ § 3.2.3;

BoinonHUTe 3apauyy 1 (ctp. 31) - cpaBHeEHMEe
npouecca napeHUsA B pa3HbIX cpepax;



SAAAHUE 2

~ import matplotlib.pyplot as plt
HOCTpOMTe # dM3MYeckue napameTpbl - KOHCTAHTHI
ro_shar = 78060
KOMan.OTepHyI.O r‘o:sr‘eda = 1000
MoAeAb cBOOOAHOro - M = 1-002
vl = @
napeHua B cpepe. ve-e_
g = 9.8

# BblYMCNAEMblE MapameTpbl
ki =6 *3.14 * myu * r
k2 = 8.2 * 3.14 * p ** 2 * ro sreda
m=4/ 3 * 3,14 * p *¥* 3 * po_shar
# M3MeHAeMble MapameTpel
dt = @.001
# 3a/aemM HadafibHble 3HAYEeHWS MacCMBOB 3HAYeHWi
t = [@]
v = [vo]
y = [h]
while y[-1] > @:
t.append(t[-1] + dt)
v.append(v[-1] + (k1 * v[-1] + k2 * v[-1] ** 2 - m * g) / m * dt)
y.append(y[-1] + v[-2]*dt)
print(t[-1], v[-1])
fig, axs = plt.subplots(2, 1)
axs[@e].plot(t, vy)
axs[1].plot(t, v)
plt.show()



